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QUESTION 1

What determines which value an object flow edge chooses to move from the source? (Choose two) 

A. upper bound 

B. weight 

C. transformation 

D. effect 

E. ordering 

F. selection 

Correct Answer: DF 

 

QUESTION 2

In the exhibit, at which levels are the DeploymentSpecifications? 

A. DeployA = spec level, DeployB = instance level 

B. DeployA = spec level, DeployB = spec level 

C. DeployA = instance level, DeployB = spec level 

D. DeployA = instance level, DeployB = instance level 

Correct Answer: A 

 

QUESTION 3

If an activity is executed three times in parallel, how many executions exist? (Choose two) 

A. any number 

B. none 
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C. two 

D. one 

E. three 

Correct Answer: DE 

 

QUESTION 4

Which stereotype CANNOT be used to elaborate the semantic intent of an Artifact instance? 

A.  

B.  

C.  

D.  

E.  

Correct Answer: E 

 

QUESTION 5

What is NOT possible when a classifier receives a request via one of its ports? 

A. The request does not trigger any behavior and is not forwarded. 

B. The port routes the request to one of a number of parts depending on the content of the request. 

C. The request is forwarded to a part of the classifier. 

D. A new port is created on the classifier. 

E. A behavior of the classifier is invoked. 

Correct Answer: D 
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